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8 Sophia was asked how she spends her leisure time.

She replied
. | play football for % of the time
. | meet with my friends for % of the time
B | use my tablet for 23—0 of the time
. | listen to music for the rest of the time.

(a) Complete the pie chart showing how Sophia spends her leisure time.

(b) What fraction of her leisure time does Sophia spend listening to music?



8 Sophia was asked how she spends her leisure time.

She replied
1 s S O
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B | use my tablet for ;—0 of the time Z/ B 0
. | listen to music for the rest of the time. 20 O,‘[ 360 = S((v
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(a) Complete the pie chart showing how Sophia spends her leisure time.

(b‘)/ What fraction of her leisure ti{ne does Sophia spend listening to music?
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(b) Boris wins £5000. ’

He gives % of the money to his wife.

He gives 30% of the remaining money to his children.

What percentage of the original amount does Boris have left?
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(b) Boris wins £5000. ’

He gives % of the money to his wife.

He gives 30% of tlie remaining tponey to his children. Z%OO
SEie
What percentage of the original amount doeg/Boris have left?
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Qemqminix 2 leloe

left #5000~ 1100 - 000
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2 (a) Find % of 56.

(b) Write 35 : 50 as a ratio in its simplest form.

(c) Write 8mm to 12cm as a ratio in its simplest form.
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(a) Find % of 56.

(b) Write 35 : 50 as a ratio in its simplest form.

® 35S0 710 .
7 : (O .......... [1]

(c) Write 8mm to 12cm as a ratio in its simplest form.

B . | 2O mm .

Lo >
v 4 : é)g (c){[b ....... [2]
LIS



(c) Work out.
—of 90

(d) Write 0.000083 in standard form.
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-----------------------------------------------------------



(c) Work out.
—0of 90

PARAAR
(d) Write 0.000083 in standard form.
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12 (a) Three schools provide this information.
. % of the pupils at Harwood are girls.
*  42% of the pupils at Crompton are girls.
*  The ratio of girls to boys at Astley is 4 : 5.

Write the schools in the order of their proportion of girls, lowest to highest.
Show how you reached your answer.
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12 (a) Three schools provide this information.

. % of the pupils at Harwood are girls.
*  42% of the pupils at Crompton are girls.
*  The ratio of girls to boys at Astley is 4 : 5.

Write the schools in the order of their proportion of girls, lowest to highest.

ow how you reached ycmeb
Ha rwood Crompbﬂ ASUg:j

lowest
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Karen made 40 cakes.

She gives % of the cakes to Andrew.

She gives 10% of the 40 cakes to Chris.

What fraction of the 40 cakes does she have left?
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Karen made 40 cakes.

She gives % of the cakes to Andrew.

She gives 10% of the 40 cakes to Chris. &O e fil R

What fraction of the 40 cakes does she have left?
Rrdlcgws )g' ol 0 = <
L
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(a) Work out.

1.3
i) 6=-+—
) 2 4

|
(ii) ?of63

Video created by W Neill

-----------------------------------------------------------

-----------------------------------------------------------
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(a) Work out.
1 3

i 4
) 65+2 6 o+ %
(ii) ;0f63
- bj den tHhon s BJ —

8-7= C(
Gl (1) J gé ................................. [2]



7 There are 20 coins in a pot. Video created by W Neill
The coins are 1p, 2p, 5p and 10p.

A coin is taken at random from the pot.

*  The probability that itis a 1p coin is %

* The probability that it is a 2p coin is %

The total value of the coins in the pot is 57 pence.

Work out how many of each type of coin there are in the pot.



7 There are 20 coins in a pot. Video created by W Neill
The coins are 1p, 2p, 5p and 10p.

70 Coins

A coin is taken at random from the pot.

3/0 of 20coins = 6 x lp Cbln-f/

*  The probability that itis a 1p coin is % |

Z ; .
*  The probability that it is a 2p coin is % /g of 20 ceins = €x 2 pCoins, -

The total value of the coins in the pot is 57 pence. (57? S7p —22(3 _ ’SS_(:.

Work out how many of each type of coin there are in the pot.

TZZK %FB cng
oF [ c Y e R



8 72 students each took a theory test followed by a practical test. Created by W Neill
They either passed or failed each test.

Practical test

This frequency tree shows some of the results. Theory test

(a) How many students passed both tests?

(b) % of the 72 students passed the theory test.

failed
Complete the frequency tree. ae

failed

(c) Which test was passed by more students?
Explain your reasoning.

failed



8 72 students each took a theory test followed by a practical test. Created by W Neill
They either passed or failed each test.

This frequency tree shows some of the results. Theory test Practical test

(a) How many students passed both tests? :

52 o

(b) % of the 72 students passed the theory test.

failed
Complete the frequency tree. ae

b{ 0( 71 = Lo psssecl
€ f\eorj

failed

(c) Which test was passed by more students?
Explain your reasoning.

"') ........ ] R S T 6{ 60
ol < fof/7z [ractical wes pesseol b4 more &S =) 4
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(a) Write 48 as a percentage of 200.

(b) Work out % of 80.

Created by W Neill
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(a) Write 48 as a percentage of 200.

R5 A‘ gf——;)
b }L ’ {
ﬁ@g oo A/
s
e
(b) Work out % of 80.
R4a

of
[sm

Created by W Neill



6 (a)

(e

e}
£30

500 people are asked if they drink coffee.

<
— say Yes.
10 ¥

20% of the people who say Yes drink at least three cups each day.

Complete the frequency tree.

Drink coffee

At least
three cups
each day

[4 marks]

Video created by W Neill
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6 (b) What fraction of the 500 people drink at least three cups of coffee each day?

(‘{33 Give your answer in its simplest form.
[2 marks]

Drink coffee At least Cl
three cups /
each day o S O
Yes S 0 b

Answer b Q
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11 (b)  Adifferent pack has 72 cards.

R4a .
9 are yellow.

Work out the number of yellow cards.
[2 marks]

Answer
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11 (b)  Adifferent pack has 72 cards.

R4a .
9 are yellow.

Work out the number of yellow cards.
[2 marks]
— % 3 deﬂ

S
/q O’( 72 Kb3 Num

e 4 B &
X

Answer
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Video created by W Neill
In a school, % of the students study a language.
Of those students who study a language, % study Spanish.

Find the ratio of students who study Spanish to students who do not study Spanish.
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4 In a school, % of the students study a language.
Rlba

e Of those students who study a language, % study Spanish.

Find the ratio of students who study Spanish to students who do not study Spanish.

Chseh = OO ( o numbeA
\Qﬂé/ \-) fUO anﬁ

4, 600 200
2o -
& 5,

240 20 :bky” L
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21 The diagram shows a fish tank in the shape of a cuboid.

Dol
‘2/0 cm
A
32cm
sand
\ 4
< 50 cm >

The dimensions of the tank are 50 cm by 32 cm by 20 cm.
oo O X
The tank 1s Z full of water and sand.
The ratio of the volume of water to the volume of sand1s 5: 1

Work out the number of litres of water in the tank.
You must show all your working.

...................................................... litres

(Total for Question 21 is 5 marks)
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21 The diagram shows a fish tank in the shape of a cuboid.

b

i})cm Ud””"e QF Cul)a[d
A Go x20X 32 = [000 K32
- = 32@0&2
32cm ?)/L{. O,F 32000(_“'3 _ 2Lk-a)OCH1
sand ;'h X3
\ 4

< 50cm > L}Jc‘&e/ : gqud
s = |

The dimensions of the tank are 50 cm by 32 cm by 20cm.

) quer
. . 2 L\Om =& Py,
The tank 1s — full of water and sand. =
4 =0 xS ... 20000¢m
The ratio of the volume of water to the volume of sand 1s 5 : 1 3

Looo x \ = L0OOOcw

20 o lntres

(Total for Question ~ is 5 marks)

Work out the number of litres of water in the tank.
You must show all your working.

lOOOCi;S 2 lL;{Té

40 P00 =



Mary. Bianka and Steve are picking apples.

Mary picks 264 apples.

1
3 of these apples are green.

Bianka picks 150 apples.
28% of these apples are green.

Steve picks 340 apples.
15% of these apples are green.

Who picks the most green apples?
You must show all of your working.

Created by W Neill

(Total for Question 7 is 4 marks)




Mary. Bianka and Steve are picking apples. Created by W Neill

Mary picks 264 apples.

| Joof B - L

e of these apples are green.

Bianka picks 150 apples. ~ B
28% of these apples are green. 28/. CHL (58 = b2

icks 340 apples.

15% of these apples are green. 2 O,P SO =5

Who picks the most green apples?
You must show all of your working.

S&@t/e Co”C’CPS moSP jreeq
QPPfQS/

(Total for Question 7 is 4 marks)
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4 Work out % of 35

R4a

(Total for Question 4 is 1 mark)
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4 Work out % of 35

R4a J/
&S
=

g (Total for Question 4 is 1 mark)

7[35 -
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16 There are 60 children in Year 6

Each of these children has either a school lunch or a packed lunch.

P30 32 of the children are boys.
R4a

% of the boys have a school lunch.

school lunch

% of the girls have a packed lunch.

Use this information to complete the frequency tree.

packed lunch

school lunch

packed Iunch

(Total for Question 16 is 4 marks)
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16 There are 60 children in Year 6

Each of these children has either a school lunch or a packed lunch.

P30 32 of the children are boys. /
R4a

% of the boys have a school lunch.

% o 37

school lunch

% of the girls have a packed lunch.

Use this information to complete the frequency tree.

boys

packed Iunch

(Total for Question 16 is 4 marks)




9 Sean works for a company. Video created by W Neill

His normal rate of pay 1s £12 per hour.

When Sean works more than 8 hours a day, he 1s paid overtime for each hour he works
more than 8 hours.

: gl .
Sean’s rate of overtime pay per hour is IZ times his normal rate of pay per hour.
On Monday Sean worked for 10 hours.

Work out the total amount of money Sean earned on Monday.



9 Sean works for a company. Video created by W Neill

His normal rate of pay 1s £12 per hour.

When Sean works more than 8 hours a day, he 1s paid overtime for each hour he works
more than 8 hours.

: gl .
Sean’s rate of overtime pay per hour is IZ times his normal rate of pay per hour.
On Monday Sean worked for 10 hours.
Work out the total amount of money Sean earned on Monday.

" 96

” <0

M _Oue’rt e

V
20 xg < fq \ 2 % 27 6
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6 There are 495 coins in a bottle.

| . .
— of the coins are £1 coins.

124 of the coins are 50p coins.
The rest of the coins are 20p coins.

Work out the total value of the 495 coins.

(Total for Question 6 is 4 marks)
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6 There are 495 coins in a bottle.

5 of the coins are £1 coins.

124 of the coins are 50p coins.
The rest of the coins are 20p coins.

Work out the total value of the 495 coins.

£ SO¢ _E
_T/’ 2\ x £ 44as - 165 - |2 = 206
E = & ‘.. X '_O

71bs e = A0

(Total for Question 6 is 4 marks)
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18 On Saturday, some adults and some children were in a theatre.
The ratio of the number of adults to the number of children was 5: 2

Each person had a seat in the Circle or had a seat in the Stalls.

% of the children had seats in the Stalls.
117 children had seats in the Circle.
There are exactly 2600 seats in the theatre.

On this Saturday, were there people on more than 60% of the seats?
You must show how you get your answer.



18 On Saturday. some adults and some children were in a theatre. Video created by W Neill

The ratio of the number of adults to the number of children was 5: 2 |
children

Each person had a seat in the Circle or had a seat in the Stalls.

Stells

W

} of the children had seats in the Stalls.

117 children had seats in the Circle. 4 Circe |17
There are exactly 2600 seats in the theatre. .

| = |1
On this Saturday. were there people on more than 60% of the seats? JR.S 2 X3
You must show how you get your answer. _)

-_-_________,__...

LEg - ?pq(t' AC)UI% 2 CL\l,\df?f] 3 Cln',ldren - bR .

23 = qu.’[’ S : 2 \(,3'2 P@,{)fg N theatbre .

H?O:SPGAS )
W70 g | B3 L o3 e, vore i i

- 2boo0 )
\o("il o [638 PEOP(Q 63/.'6:” SC’QI:S Weﬁ-?“c]l
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18 Daniel bakes 420 cakes.

He bakes only vanilla cakes. banana cakes, lemon cakes and chocolate cakes.

% of the cakes are vanilla cakes.

35% of the cakes are banana cakes.
The ratio of the number of lemon cakes to the number of chocolate cakes is 4:5

Work out the number of lemon cakes Daniel bakes.



Video created by W Neill
18 Daniel bakes 420 cakes.

He bakes only vanilla cakes. banana cakes, lemon cakes and chocolate cakes.

% of the cakes are vanilla cakes.

35% of the cakes are banana cakes.
The ratio of the number of lemon cakes to the number of chocolate cakes 1s 4:5

Work out the number of_lg_n;_gg_g_aj_cgs Daniel bakes.

_!@M __]-_6_'_MOr\ ond choe G0 -120 -I47 = [SR

Z of 420 = (10 B
53 @ZS

banang
DananG

357 0f 40 <[7 4

7 - ch(f”
- Q b8 lpads Q XY 6%/

, [S2 = G pads
jr f



10 Jim thinks of a number. Created by W Neill

% of Jim’s number is 48

5 .
Work out E of Jim’s number.

(Total for Question 10 is 2 marks)




10 Jim thinks of a number. Created by W Neill

/.-___' Y
% of Jim’s number is 48 ‘S\M 51 UML)‘Y - 72

5 _
Work out E of Jim’s number.

Z 72 = b0
2 s lg
S

%';48

(Total for Question 10 is 2 marks)




16 Alan, Bispah and Chan share a sum of money.

RLtQ Alan gets % of the money.

Rlb

Bispah gets 5 of the money.

Chan gets the rest of the money.
Alan gets £2.50

(a) Work out how much money Bispah gets.

(b) Find the ratio
R amount of money Alan gets : amount of money Chan gets

Give your answer in the form a:b where @ and b are whole numbers.

Video created by W Neill



16 Alan, Bispah and Chan share a sum of money. /‘%}

RLtQ Alan gets ;— of the money.

Rl | A B

Bispah gets 5 of the money.

P
Chan gets the rest of the money. /g . %
Alan gets £2.50 ,}_\X >

(a) Work out how much money Bispah gets. ‘f? S0 f lO

(b) Find the ratio
R amount of money Alan gets : amount of money Chan gets

Give your answer in the form a:b where @ and b are whole numbers.

Video created by W Neill
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6 Sue has 2 cats.

| .
R4a Each cat eats — of a tin of cat food each day.
R26 4

Sue buys 8 tins of cat food.

Has Sue bought enough cat food to feed her 2 cats for 14 days?
You must show how you get your answer.

(Total for Question 6 is 3 marks)




Video Created by W Neill

6 Sue has 2 cats.

R4a Each cat eats L of a tin of cat food each day.

R26 4 ¢ ( Ec‘(\ = QOIQ:&S
Sue buys 8 tins of cat food. g— 'Z/SE‘( 5= u) o‘ijs

Has Sue bought enough cat food to feed her 2 cats for 14 days?
You must show how you get your answer.

\ Yes,gue {f]q§
Vi ks /q an C/‘qc(/) bOVJM @noujlq

\> t/tt{/[{& F‘(/:Z(:frf\@%r:h OIQj '/
| Fin last 2dage

(Total for Question 6 is 3 marks)




Video Created by W Neill

|
4 Work out 2 of 720

R4a

(Total for Question 4 is 1 mark)
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|
4 Work out 2 of 720

R4a

(Total for Question 4 is 1 mark)







10

Rlea

The average age of teachers at a school is 36 years.

Mr Smith’s age is E of the average.

How old is Mr Smith?

Video created by W Neill

[2 marks]

Answer

years
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10 The average age of teachers at a school is 36 years.

P\L"o‘ Mr Smith’s age is E of the average.

How old is Mr Smith?

% O,ﬁ glo ‘3@:’(‘5 [2 marks]

2Ww2G x|
b ox || ';L{u

Answer a (L years

v
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25 There are 720 boys and 700 girls in a school.

- ; 2 o
The probability that a boy chosen at random studies French is 3
The probability that a girl chosen at random studies French is %

25 (a) Work out the number of students in the school who study French.

Rla

[3 marks]

Answer




(a)

Rla

Video created by W Neill

o —

There are 720 boys and 700 girls in a school. “.klzo

The probability that a boy chosen at random studies French is §

The probability that a girl chosen at random studies French is %

Work out the number of students in the school whio study French.
[3 marks]

——

Z
720 bous 73 0f 720 = LKO boys

YJ

(\

<_of 700 =il o\\rh

100 %I([S
Q%O + 470

Answer QOO p Vp }l { S




11 A fair spinner has 12 equal sections. Video created by W Neill

Label each section A, B, C or D so that when the arrow is spun,
i i 9
the probability it lands on Ais —
P21 P y 6

P26 the probability it lands on B is equal to the probability it lands on C
R4a  the probability it lands on D is double the probabilty it lands on A. 3 marks]




11 A fair spinner has 12 equal sections. Video created by W Neill

Label each section A, B, C or D so that when the arrow is spun,
i i 9
the probability it lands on Ais —
P21 P y 6

P26 the probability it lands on B is equal to the probability it lands on C
R4a  the probability it lands on D is double the probabilty it lands on A. 3 marks]

A of 12 section;
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16 A train has 1 first-class carriage and 6 standard carriages.

R4a The first-class carriage has 64 seats.

% are being used.

Each standard carriage has 78 seats.

- in each carriage are being used.

Are more than half the seats on the train being used?
You must show your working.
[5 marks]

Answer
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16 A train has 1 first-class carriage and 6 standard carriages.
Tolsl sests
R4a l The first-class carriage has 64 seats.
x % are being used. eu -l— ( é? )( 78' )
e S 82\ Qeiq{-s 0
Each standard carriage has 78 seats.
bX Eoks |

% in each carriage are being used.

2
Are more than half the seatSyn the train being used? & 7L ét‘k = 2

You must show your working.

W ovse = 276 %0478:&2XE
%ofr o3¢ = 7bt SUED
Yec |0 more are )y use / n vse 25242 =92

"
Answe\\

—
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7 A rectangular carpet measures 8 m by 6 m
- Part of the carpet is covered by a square rug of length 2 m
a
G617 8m
Not drawn
accurately

6m

2m

Show that % of the carpet is covered by the rug. [2 marks]
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7 A rectangular carpet measures 8 m by 6 m
- Part of the carpet is covered by a square rug of length 2 m
a
G617 8m
Not drawn
accurately
2 6m Carpet = Bm X bm

2m = &%M’a
Qvfs = 2 XZW\

= Um These
=
1 ' are
Show that 2 of the carpet is covered by the rug. [2 marks] e‘qu f

|
l/’&O]L qupelt z )I/ZO% ng’l : q/i :({/ML’I/




22

R4a
R13

Anna plays a computer game.

Each game is a win or a loss.
She wins three quarters of her first 24 games.
She then wins her next 12 games.

For all 36 games, work out the ratio wins : losses
Give your answer in its simplest form.

Answer

Video created by W Neill

[3 marks]
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22 Anna plays a computer game.

Each game is a win or a loss.
R4a She wins three quarters of her first 24 games.
R13

She then wins her next 12 games.

For all 36 games, work out the ratio wins : losses

Give your answer in its simplest form.
[3 marks]

P'ths 26 LR | losses
O ® |
W nS 1/(* OWLZQ S | ( ol

%ééx‘;:;g
v

112 S |

Answer

30 wins
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30

17 (b) Laura also wants to work out 5 of 60
Her answer is 58
R4a
Is her answer correct?
Tick a box.
Yes No

Give a reason for your answer.
[1 mark]
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17 (b) Laura also wants to work out % of 60

Her answer is 58
R4a

Is her answer correct?

Tick a box.

Yes _/ No

Give a reason for your answer.
[1 mark]

79
SL’E L'I"!‘B Fomd A) O‘F%O @o\ [L Skouo& I’/‘é
IOV\ clen  cngh X oy Aum
U
LGL/FG Inas ohone [E@ wfoﬂa Cj Crr‘culo{




. . . ) Video created by W Neill
7 Line AB is shown on the grid. YA

A is the point (0, 2)
B is the point (6, 5)

7 (c) On the grid, draw a line from point (0, 0) that is
parallel to AB
R4a

and
two thirds as long as AB. [2 marks]



. . . ) Video created by W Neill
7 Line AB is shown on the grid. YA

A is the point (0, 2)
B is the point (6, 5)

7 (c) On the grid, draw a line from point (0, 0) that is
parallel to AB
R4a

and
two thirds as long as AB. [2 marks]



13 A charity sends an appeal letter to 3000 people. e

The letter asks for a donation of money.

Here is some information about the last appeal letter the charity sent out.

% of the people who were sent the letter made a donation.

The average donation was £8.60

% of the people who made a donation filled in a tax form.
The government adds 25% to the donations of these people.
13 (a) Using this information,

work out the amount the charity can expect to receive from this appeal.

R4a ——
R7 [6 marks]

Answer £




13 A charity sends an appeal letter to 3000 people. VigesiceonterppuiEien

The letter asks for a donation of money.

Here is some information about the last appeal letter the charity sent out.

1 ! :
5 of the people who were sent the letter made a donation./ gooo - ’2 ~ { SOO Pé"’fdf
The average donation was £8.60 [ SO @, )( ,zg_ % EO — g [ ’2 4900

% of the people who made a donation filled in a tax form.

J —
The governmethe donations of these people. /5 O‘F (B (e 8 S}? O Péop\ ¢
13 (a)  Using this information, 257/ O{' ég b0 = g?fg

work out the amount the charity can expect to receive from this appeal. s
R4a SRR PP £(075
[6 marks]

R7 Ta[:ql gx{)@(ked - \’ZC?OO + 075
Answer £ lgq?g




12 How many minutes is 225 seconds?

Circle your answer.

R4a
N46

2
12 4

Video created by W Neill

R

[1 mark]



12 How many minutes is 225 seconds?

Circle your answer.

R4a
N46

tye

Video created by W Neill

[1 mark]
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13 A small square has length x cm
15 ¢cm
A large square has length 15 cm
R4a
G17
X cm
Not drawn
accurately

The area of the small square is % of the area of the large square.

Work out the value of x. [3 marks]

Answer
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13 A small square has length x cm
15cm
A large square has length 15 cm
R4a
G17

\W\ﬂé - {SX\S lS Seen

’l X cm
“ 2 Zg C ™ Not drawn
accurately ngC 2 SC M’L

The area of the small square | % f the area of the large square. o= 5
l/:, a,f 125

Work out the value of x. [3 marks]

Answer g CN\




14 A ball is thrown from a height of 15 metres. Video created by W Neill
It bounces to height /4, then to height /i, as shown.

Not drawn 26 (a) Jack expects 7, to be three quarters of /4
accurately

R4a  Work out the value of /5 that he expects. [2 marks]

15 m

11 is three quarters of the original height.

Answer metres




14 A ball is thrown from a height of 15 metres. Video created by W Neill
It bounces to height /4, then to height 7, as shown.

4 14 (b) N34

Not drawn

accurately In fact, /1, is two thirds of 7
How does this affect the answer to part (a)?
Tick a box.

15 m | The ball bounced higher than he expected
h
ha The ball bounced lower than he expected
y R Show working to support your answer. [2 marks]

11 is three quarters of the original height.



14 A ball is thrown from a height of 15 metres. Video created by W Neill
It bounces to height /4, then to height 7, as shown.

S
A
Not drawn (@)  Jack expects /1, to be three quarters of /4
accurately
R4a  Work out the value of /5 that he expects. [2 marks]
I 28 m
15 m

11 is three quarters of the original height.

woer 8 W37




A ball is thrown from a height of 15 metres. Video created by W Neill
It bounces to height /4, then to height /i, as shown.

2 3
4 (b) N34 "o
Not drawn /3 /Lf
accurately In fact, /1, is two thirds of 7
“ 1§ How does this affect the answer to part (a)?
Tick a box.
:
15 m The ball bounced higher than he expected

} qulr:l
14 v
é L

hy / The ball bounced lower than he expected

y \ Show working to support your answer. [2 marks]
11 is three quarters of the original height. £ 3
/3 &7

.
G



Video created by W Neill

23 A shopkeeper compares the income from sales of a laptop in March and Apiu.
R4a April
Price % more than March

Number sold % less than March

By what fraction does the income from these sales decrease in April?
[3 marks]

Answer




23 A shopkeeper compares the income from sales of a laptop in March and April.

Video created by W Neill

R4q April
Price A more than March [’l,_
Vol 109 7 {70 5 XA
5 1 %/
l/u ()j( 0 = S Number sold % less than March |2 o)
lgO
By what fraction does the income from these sales decrease in April?
Price 35“5 [3 marks]
arch

£loo ¥ 20 = £2000

———————————

il Lo xS = £l8oo
LAbL

Or: l'nr:/ ___;2_‘.?.‘;-——-—— ( \/
Answer LBl < I O




